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@������ ��� ��� ��? *� ह� ���� ह%, 130 �� 
���� *� ह� ���� ह%, 130 �� ��� *� ह� ���� ह%; 
<Uह,�� @�� �)��, TO  ��2 5��<�, .(� �ह$ !`��; 
�� �	
� �� �� �� @��� 3�� ह% �� 3� �>� �� 
��� y��� <���� �ह$ ����� ��ह �ह� ह4 ��,�� ����� 
���
� 3 ���� ह4; �4 ��) �� @�� *�s *��� �ह� हO	; 
1��")� �� �4 *���� �� �ह� &�; ���� y�� ��  3�� �� 
*4� 3 ���; ��� घ	2� ��7� j�� �ह ��� n�	�� �� 
�ह��; �� 3� <� 3 �� �� y��, �� ��� ��� �� )��� 
�� �ह$ ��� ���� ह4; 3��� �� r�
-&� ���� 
�7��� �� ���
� y�� �� �ह$ 3�	; 5�� ���
�, 
�� ����� �� r�
-&� �ह$ �� ���� ह4 �� <��� 
5&0 �ह �ह$ ह�
� �� ह� y�� �*� ��� ��� ह� �ह$ 
����;  

�� 
�!�� �� ���: �*���� �ह�)�, �ह �*� �ह$ 
�ह� ��� �� ��� ��� .�N� ���� �� .��� �ह$ ह� 
�ह� ह%; 
ह ���� ������<� ह%; ����� 130-140 �� 
������@� -��T ��� ��� +� 1��")� �� 5�� 
5�� j� �� ह%, 3���T� �K��-2 ���� ह%; ह� 
<��� @Z� ���� ह4 ����� ��ह>� f�� ह% �� <��� 
@Z��� ������@ �ह$ ह%; �ह�	 �� <Uह,�� �ह� �� 
���
�, �� y�� �� ���� �� ������ ; �� ह� ��n�� ह4 
�� �
�@)�ह� ह� �� ह% �� �� b ��n�
 *� �� @�� )� 
�� �% �� ���� ��� ...('����
)... ��0 ����� 
3��� �% ��� ��2 ���� ह% 3��� ...('����
)... 

�� �)�	�!: @� ह� ���; �� ���� v�T 2����;  

�� ���� �FB� G�	
�: �%���%� ��, ��!& ?-2�0 
��� ��<� ��  @��� �� �� b ह�� @7� .�"�� ह��� ह%; 
ह 
@ह�� ������ ��� ��<� ह%; @ह�� �)� �� !� ��� ��<� 
�� ��L�� �ह$ ह�? ह%; �
1�/�� n������T� ���
� 
-2�1� �� �@������ �� @ह�� ����� ���� ह4; @ह�� 
���� y��� ��� *� ���� �ह�� ह% �����  ���E 
ह 
��<� @ह�� ���@ ह� ��� ह%; ���21 5
�� �� 
ह ��� 
��<� �%��� ह�? ह%; 3� �� ����� ह4; ��!��� �� �� 
��6 �� �� ह� y�� ह% �)l�� 3�� ��  ��� ���� �� �� 
�)l�� 3�� ह%; 
ह �@ ��� @ह��  ���  ��� ���� ह% 
+� ह��1� )�� �� �ह� 	��� ह%;  

���� �ह�� �ह ह% �� <� ��� ��<� �� ��L�� ��  
��� 1��) <� ��� f�� �� b �.�
 �� �ह$ ह%; 
3��� !� ��� ��<� ��  T�
����2 ��  ��� ��� ��? 
.�
 �� ���� ह%? ��) �ह$ ���� ह% �� ����� ���? 

    �� 
�!�� �� ���: �*���� �ह�)�, ह���	�� 
!��� .(� <��� !R�U� �ह$ ह��� ह% ����� �� 
��� <����  ��  �� ��� �	T ��  ��� �� K-&�� ��  
@��� �� !Uह,�� �ह� ह%; !��� 5�� �� <� @��� �� 
!k� �)�� �� ���� ह%; ��� y�� �� ��KU2��� 
=��	�� ���� 
��� ���0 ह%; <���  5��
� y�� 
��U�O5� ��  ��� *� ह� ��� �%�� 3
	�2� ह��� ह4; 
�ह @�� �ह� ह%; �4 �ह�� ह� @�� ���� हO	 �*� )O��� 
5
�� ��; y�� ��U�O5� W
�T�O ह% )�1 �� +� 
!��� ��!& ?-2�0 ���
� �� *� �ह-�� ह% �����  y�� 
��U��5
� ��  ��� .��� ���� �� �ह� ह%;  

����� H��� �� ��
� ���� ��� I���9 �5 ��� 

*544. �� ���/�� =�ह =II��: 

           �� -���;/� =�ह ह�//6: 

��� ��� �	
� �ह @���� �� �� �� ����� ��: 

(�) ��� 3X&� ����
� �, �� ��� ह��� ��  
���E 
/0 1998-99 ��  .&� ��� �ह��, �� ���
� h��� 
��� ����? �� ��
� �� 
/0 �� <�� 5
�  �� 
����
� �� �� ह� ��� ह%,  

(�) ��) ह�	, �� �� � ����� ��
� �� ����? �� 
��� ह% �&� �ह �� 
/0 �� <�� 5
�  �� ��� 
����? �� ����� �� ����� �� ह%,  

(�) ��� ��� ����? �� ��
� !���s ��� 
3�� ��  ���E, �� ��� ����� ह��� ��? ��	� �� ��� 
ह%, +�  

(घ) ��) ह�	, �� !��� ��_�/[ �� "�>�� ��� 
ह%? 

��� ��$� (�� 
�!�� �� ���): (�) �� (घ) �� 
�

�E �*� �2� �� �� �)�� ��� ह%;  

����� H��� �� ��
� ���� ��� I���9 �5 ��� ��  
��-�� �5 ����" 

(�) �� ह�	, ��� ���
ह� ��  ��� ��	� �� ��� 
��  ���E ���O �
k 
10 ��  .&� ��� �ह��, ��  
)>��� ��b�� 
/0 �)��j�� 5
�  �� ����� �� 
.��	�*� �)�� �� ��� 3? ह%;  

(�) 5.%�-�O� 1998 ��  )>���, *����� ���, 
�� 99.41 ������ 2� �� �)�� ���� ह% �� ��b�� 

/0 �� �)
�j�� 5
�  �� ����� �� 3.92 ������ 
2� �� ह%; 
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(�) +� (घ) �
�*U� !������D �	
���, +� 
������, ��  ��& �	��0  ���� �� ��� ��� ह% �� 
�@���, �����, ����2, !
0��, �� �U� +� <-��� 
�%�� .��� J�
, �� ��� ���
ह� ��  ��� ��	� �� ह��� 
��  ���E ���, ��  ��\ ��� ���
ह� �� ��� 3? ह%; 

�� ���/�� =�ह =II��:�%���%� ��, �	
� �� �� 
�
�@ �)�� ह% �� ��-2 <�� �� 5.%�-�O� �� �)� 
<�� 3.92 ������ 2U� �� ��T� ह�3 ह% +� 
<Uह,�� ���E �)�� ह4 �� —drop in the demand 

for rail transport from the core sectors such as 
Power, Coal, Cement, Fertiliser, Foodgrains 
and steel.... 

����� ���� �ह ��n �� �ह$ 3 �ह� ह% ��,�� ��
� 
���2� �� ��-2 <�� ��, �� ��
� ��, ��
� �� 
����1� �� @Z� ह%; <���� ��� �� �	 �L�1� *� 
������� @Z� ह���; �� 
ह ��
� �� �� �ह$ ह� ���� 
ह%; )O��� 6O T\�� �� ह% ; �%� ��n�� हO	 �� 6O T\�� �� 
*� ��? ��� �ह$ ह� ���� ; <���  �4 �����%� ��ह@, 
)� 5��� ��6 �� �
�@ @���� ��ह�� हO	 
...('����
)... 

�� �)�	�!: 3� �
�� �����, @��<� �ह$;  

�� ���/�� =�ह =II��: �Ob�� ���� हO	 �� <���  
��-2� �� ��� ��? ��� ह% ? 
ह ��� ह% �� �4 �� 
�����%�, ���	@ -2�2 <�%K�y��2� @�T0, �@ ह�� ��� 
�� �j�� ह��� &� �� 
ह 
%�� �ह�� �ह$ ����� &� 
+� �@ �ह$ ह��� &� �� 5��� 3� ह� 
ह�	 �� d��)� 
64 � )��� &�; f�� ह� �4 �Ob�� ��ह�� हO	 �� �	��@ �� 
W��� ��T�!	� �� <��� 5��� �7� ह% �� �	��@ 
�
�0��2 +� f����� �� ���� @�� ���� ह% �� <���  
y�	�@��2|1� ��  ��� 
%�	� ���ह�, ����� ���
� �ह$ 
)� �ह� ह%, <���� ��� �ह 5��� ��-2� �� ��? 
�")��� ����� �� �@ �j�� ह� !� 
s !��� .@	  
���� ���? 

�� 
�!�� �� ���: �*���� �ह�)�, �ह @��� �)�, 
�� @�� �� �ह� ह4; �*� �)��� ह��� &� ; 3� �ह 
ह��� ह% �� ह���� ��� ����? �� �% ����2� d��)� ह%; 
ह���� 
%�	� �? ��ह �� ��	� �� ���1 �� 3<T� 
@%̀ �  ह�� ह4 +� 6O T\�� �O
��2 �� @�� 
ह �� �ह� ह4, 
!��� �� ���� �� �T��	T 3 � �� �ह� 	� ���� ह%; �ह 
@�� �ह� ह% �� �	��@ �� 5��� ��  ��)�� *�� �7� ह4, 
����� !���  �O
��T ��  ��� �6.��.3?. ह��� 
ह��� �����; ह� 5��� ��� �� 6O T\�� ��  ��� �ह$ 
������ �� ��� <��� ��) )� ; <���� K-&�� 

�ह ह% �� ह���� ��� 
ह �T��	T �ह$ 3 �ह� ह% ; ���� 
��� �%�2� �� �ह� ह��� ह% ; 5@ ��� �� �ह�	 �� 
�
�� ह% �� �ह�� ��� �ह�� �ह�� &� �� ���	� <��� 
�ह� 	��<��, ����� 3� ह��� �ह ह% �� �	��@ -2�2 
<�%K�y��2� @�T0 ��  ���, ����� �ह @�� �� �ह� &� 
, �	��@ -2�2 <�%K�y��2� @�T0 ��  .�����  5@ �ह 
�ह�� ��ह�� ह4 �� ह���� �ह�	 5@ ��� �� �O
��2 @	) 
����� �O	�� ह���� -2�� �7� ह�3 ह%; �� <� �@ 
���, ��  ���� !��� ����? �� ह�? ह%, ����� ह���� 
��6 �� .��� ���� ह% ; ह� ���, �� <� @�� ��  @�2 
�� ���*�7� �� ��? 
�KP �ह$ �� ह%; ह� �ह !L��) 
���� ह4 �� �� ��� �%�2� ��  ��� ह% 
� <� @�� �� 
��n��� +� ��T �� ����� �� ��� �� ����ह )��� ह�� 
<��� 5��� �O
��2 �������, ��,�� ��b�� ��� ��� 
�ह��� �� ����� ��� ����? ह�? &� <� ��� !��� 
����� �� 3.9 ������ ����� �4�� �
�@ �)�� ह% 92 
������ 2� �� �� ����? ह�? ह% +� !���  ���� 
��6� ������ ह� ���� ह% ; �� ������ 2� ��� �� 
����? �� 50 ���7 H��� �� 3�)�� ह��� ह% ; <� 
.��� �� ��b�� ��� �� ����� �� ��6� ������ ह� 
���� ह% ; ����� ���
� �� ��6 �� ���� ��� �%�2� ��  
���, ��  ��& @��-��� �� �� �ह� ह% +� �O�� .��� 
���� �� �ह� ह% ; �2|� �	 �%1	� *� �)�� ��� ह4; <� 
�@ ���, ��  @�) ह� ��ह�� ह4 �� ��� ��� �� ����? 
����	 ;  

�� ���/�� =�ह =II��: �����%� ��ह@, <Uह,�� 
�� �
�@ �
�(�� �	@� 2711 �� �)�� &� �� �� <��� 
�Ob�� ��ह�� हO	 �� �� &�}q� ह��� ह% <���  ���L� 
3�� ह4 +� !��� ����2 �� @ह�� �� ���� ह4 ; !��� 
<Uह,�� �
�@ �)�� &� �
(�� �	@� 2711 �� �� 
1995-96 �� 58,897 ��� �� ���� 3�� &� +� 
<Uह,�� 2695 �� ����2 �� ; f�� ह� 1996-97 +� 1998 
�� ���� 72,894 ��� �� 3�� ����� ����2 <Uह,�� 
�� 2758 ��� �� ;  

MR CHAIRMAN: How does it arise from 
this? 

�� ���/�� =�ह =II�� : 5��<� ह��� ह% ; 5�� 
���� �ह ���
� `�� �ह$ )��� �� .�
�2 ��, !`����� 
����� �	1���� �ह$ ����� �� ���� ����� 5�� 
���� ह� ��� �� !��� !�� ����2 �ह$ ������ �� ��? 
+� .@U  ����� ; �ह ���
� �� ��, ����� ? 

�� �)�	�! : `�� ह%, ह� ���; 
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�� ���/�� =�ह =II�� : <���� �4 ��b�� ��ह�� 
हO	 �� <Uह,�� ��? <U�
���� @%`�? ह% ? 

�� 
�!�� �� ��� : <��� ��? <��� �	@	  �ह$ ह% 
; !���  ��� 5�� ���� @�� ह�� ह4 ; 5�� �ह$ ��? 
���� ��� T�-N�O2 ह�3 ह% �� !���  ��� �%�� ��d� ह% 
+� <� .��� �� 5�� ��? �1���� ह% �� ��n� 
��� �� )� ; �4 !��� ��	� ��
��	 �� ;  

SHRI P. THIRUNAVUKKARASU: Sir, 
the line between Chennai and Villupuram is to 
be converted into broad gauge shortly. All the 
goods which are transported to Pondicherry 
from Chennai through rail, are transported via 
Villupuram. The railway line between 
Villupuram and Pondicherry is metre gauge. It 
the line between Pondicherry and Villupuram 
is not converted, no essential goods will reach 
Pondicherry. 

In reply to an Unstarred Question of mine, 
the Minister has replied: "The conversion will 
not be made since the Planning Commission 
has not granted permission for the same." The 
question is whether any steps have been taken 
to speed up the work to be able to transport 
goods to Pondicherry. 

Secondly, I want to know whether the 
people of Pondicherry have.............  

MR. CHAIRMAN: It does not arise out of 
this question. 

SHRI C.P. THIRUNAVUKKARASU: The 
transportation of goods through the railways 
will be declined. 

MR. CHAIRMAN: That is a separate 
subject. 

SHRI C.P. THIRUNAVUKKARASU: 
Goods will not arrive at Pondicherry at all. 
There will be a total decline in the 
transportation of goods to Pondicherry. 

MR. CHAIRMAN: No, it does not arise. 

SHRI C.P. THIRUNVUKKARASU: At 
least I may ask whether.... 

MR. CHAIRMAN: Please put a separate 
question. It does not arise out of this. 

SHRI PRANAB MUKHERJEE: Sir, I hope 
that there will be enough time to get a reply 
from the Minister. That is why I am putting a 
short question for'a quick reply. 

In paras (c) and (d) of the statement he has 
referred to some interaction with the various 
user Ministries, including the Food Ministry. 
Replying to the first supplementary, he 
himself admitted that foodgrains were lying 
in mandis and godowns in Punjab, which 
should have been transported, but the FCI 
was not placing indents on the railways for 
their transport. The Government is one and an 
integrated one. I want to know whether he 
has taken it up with the concerned Ministry, 
the Food Ministry. What has been its 
response? 

Secondly, there is a shortfall of 3.92 
million tonnes in the first quarter of the 
current financial year. Can he indicate what 
the shortfall will be pro rata in relation to the 
overall target for the year under review, that 
is, 1998-99. 

�� 
�!�� �� ���: ��, 6O T\�� ��  ����� �� ���0� 
�T��	T 2526 ���� .���)� �� &� ���� घ2�� 10-
12 ���� .���)� �� ह� ��� ह% ; �ह�	 �� ����� 
�� ����� ��  ��& @����� �� �
�� ह%, ��

� ��  
5� ���� �*� ���, ��  ��& �	��0  @��� ह�� ह4 +� 
���� ��� ���2� �� �	@	� � ���, ��  ��& @����� ह� 
�ह� ह% ; �ह �O�� K-&�� �*� ���, ��  ����� ह% +� 
�� b ����� �� �O�� )�1 +� <� �O�� ���� ��  ह4;  

�� D"- ����C : @����� ��  @�) �� b <L.O��2 
हO3?  

�� 
�!�� �
 ��� : �� 5*� K-&�� ह%, 
ह �4�� @�� 
)� ; �@ <L.O
��2 ह���, 
ह *� @�� )O	�� ;  

SHRI DIPANKAR MUKHERJEE: The 
information may not be available with you 
right now, but, still, will you kindly check it 
up? You are saying that there is a shortfall of 
3.92 million tonnes. How much has been 
diverted to road? Is it at your cost? Is it 
because of the road transport that your 
tonnage has gone down? This should also be 
checked up. Rail versus road is a major issue. 
Will you   kindly   check   up   whether   road 
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transport has simultaneously decreased or it 
has gone up at your cost? 

�� 
�!�� �� ��� : �ह ���� ��n �� 5*� �� 
����? �� ��� 3? ह%, <� �� T�<
10� �� =��� � 
�ह$ ह% ; <� �� d��)� =��� � ����1� ��  ��& ह% ;  

SHRI S. R. BOMMAI: Sir. road transport is 
cheaper, speedier and safer, and there is 
delivery at the door. Will the Railways think 
of efficiency, stopping pilferage and 
eliminating delays in transport and settlement 
of claims as early as possible? 

�� 
�!�� �� ��� : ��, ������ �)-� @�L�? 
��ह@ �� ��n�
 `�� ह% +� ह� ��� ��� !� 
�)1� �� .��� �� �ह� ह% ; ���� �� �6����	�� 
@Z�? ���, -��T @Z�? ��� +� �	 2��� �T��� *� 
��ह��ह ���� �� ह4 ; ��� .��� �� ��	� ह%, !� 
�ह��@ �� !� �� ��
� ���� ��  ��� ह� �� �ह$ 
5��� �)� !`� ����  ह4 ;  

MR. CHAIRMAN: The Question Hour is 
over. 

WRITTEN   ANSWERS   TO   STARRED 

QUESTIONS 

"!��� �� ह� �ह� �ह����" ��  ���" ��. 
L��LM� <� 	�#��"�� ���G" 

*545. �+��� ह���ह
 =�ह ��/�:  

            �� 9� /N ��/�:  

��� ��D
�E +� @� �	
� �ह @���� �� �� �� 
����� ��: 

(�) ��� ����� �� )�1 �� ���� �� ह� �ह� 
1ह����E ��  ���E ��� -
�-�� �&� ��D
�E�� 
�	�2 �	@	 � @Z�� ��-��W	 �� ������� ह%, +�  

(�) ��) ह�	, �� )�1 �� �
1�/�� @ह�� 1ह�, 
�� <� K-&�� �� ��@� ���� ��  ��� 5@ �� ��� ���0 
����� 3�L* �� �? ह% ? 

	�#��" <� �
 ��$��� �5 ��O� ��$� (�� -�-
 
��� ����B�): (�) ��, ह�	; ��� 1ह����E �� 
3
�� +� ������ ���
 �W	 �� ���, y%�6� 
���
, �	)� @K-��, �� �
-��� +� ��D
�E 
5�S�E �� ��-���	 �%)� ह��� ह% ����� ��
� �� 
��R���� .*��
� ह��� ह%;  

����" 

�
 L��LM� <� !�P �ह����" ��  ���" 
	�#��"�� ���G ��  ��-�� �5 ����" 

(�) ����� �� ��� 1ह����E +� 5
S�E �� ����� 
��  ��� �
�*U� �)� !`�� ह4 ����� ��L������ 1���� 
ह%:- 

(1) �� ������2� -���, �� �� ���k�, ��L@?, 
��U�?, ह%)��@�) +� @	��>� 1ह�, �� ���O 
ह%, 1ह�� ���0 +� ������ �	
��� h��� 1�j 
�� �? ह% ���� ��� 1ह����E �� 
3
(���� �� �O�� ���� ��  ��� !���  
3 ��*O� ��	�� �� �
��� ���� �� ���  ;  

(2) ���� 1ह�, ��  ?)0-��)0 b�2� +� �Q�� ���, 
��  ����� � �
��� �� -��� *� 1ह�� ���0 
+� ������ �	
��� h��� 1Oj �� �? ह% 
���� ��y� 1ह�, �� 3�� @��� 
��, �� ���� 
�� ���  ;  

(3) �)l�� �� .)O/E ���	
E ��  ��� ���0����� 
�ह�� ह� �%��� �� �� �? ह% +� !�� ���O 
���� �� �ह� ह% ;  

(4) ��U�?, ��L@? +� ���k� ��  ��� <�� .��� 
�� ���0 ������	 �%��� ���� �� .-��
 ह% 
�&� �)�O��� ������T�, �ह���_y +� 
�K(�� @	��� �� ��d� �����, �� <� �	@	  
�� ���0
�ह� 1�j ���� �� 5����  ���� ��� 
ह% ;  

(5) )�1 �� .)O/E ���	
E ��  ��� �� ��>)� 
��D
�E�� ���0������ �%��� �� �? ह% +� 
<� �� 14 ����?, 1998 �� ��d� .)O/E 
���	
E @�T[ ��  5Q�J, +� �)-� ���
, 
�� @%`� �� �
��� ���� ��� ह% ; <� ���0 
����� �� �
�*U� ���, �� ह��� 
��� .)O/E �� 
���	�
� ���� �� .-��
 ह% ;  

(6) @ह�� 5� � .)O�/� J�
, �� ��D
�E �� 
��E
k� �� @��� ��� ��  ��� ���0-������	 
�%��� �� �? ह4;  

(7)   .)O/E ��  .*�
, �� �� ���j��� 5�*���;  
Reconstitution of ICHR 

*546. SHRI V.N. GADGIL: Will the Minister 
of HUMAN RESOURCE DEVELOPMENT be 
pleased to state: 

(a) what are the reasons for reconstituting the 
Indian Council for Historical Research; 


